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National Education Day is celebrated on the birthday of

Answer
a) Sarojini Naidu b) J.S. Kriplani ¢) Rajendra Prasad | d) Maulana Abdul | (d)Ma
Kalam Azad ulana
Abdul
Kalam
Azad
Which is the name of the seismologist who invented the scale used to measure the
magnitude of earthquakes? Answer
(a) Hiram Walker (b) Charles Richter | (c) Marconi (d) Alexander (b)Cha
Graham Bell rles
Richter
Which shortcut key is used for paste option in computer?
(a)Ctrl+C (b) Ctrl+V (c) Ctrl+X (d) Cul+P (b)
Ctrl+V
Where did the World Economic Forum (WEF) host its Annual Meeting from January | Switzer
20 to 24, 2025? land
a) India b) Australia ¢) Russia d) Switzerland
(d)
Who did India defeat to win the ICC Champions Trophy 2025 final held at Dubai
. . . New
International Cricket Stadium?
Zealand
a) Pakistan | b) New Zealand | ¢) Australia | d) Zimbabwe (b)
What operation did India initiate in response to the Pahalgam Terror Attack? ¢)Opera
tion
Sindoor
a) Operation Vijay | b) Operation ¢) Operation d) Operation
Cactus Sindoor Trident (©)
Which operation did India launch to provide humanitarian assistance after the recent | Operati
catastrophic earthquake in Myanmar? on
Brahma
a) Operation b) Operation ¢) Operation Ganga | d) Operation
Brahma Meghdoot Bharat (a)
‘Verve’ means: Elan
a) Elan b) Vacuous ¢) Cuckoo d) Asinine a
Which of the following statement is false?
A. The stories on reverants always enthralls the movies goers.
B. The word ‘Apparition’ is related to ‘Ghost’.
C. Discursive style of speaking can never be an effective way of speaking. D only
D. Security personnel are always of artus-eyed nature.
Choose the correct answer from the options given below.
a) B only b) D only A &C d)B&D b
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Match the following pairs based on synonyms:

A. Perceptible i. Tangible A-i B-ii
B. Dormant ii. Lanquid C-iv
C. Workshy iii. Toilet water D-iii
D. Scent iv. Otiose
a) A-i, B-ii, b) A-ii, B-i, c) A-ii, B-iv, d) A-iv, B-iii, C-ii, |a
C-iv, D-iii C-iv, D-iii C-ii, D-i D-i
11 | Which of the following statement is not true?
A. Unbearable odour was emanating from the room.
B. The toilet water used in the rooms is not very expensive.
C. It is a palpable thing that everybody wants to eat palatable stuff. Donly
D. Adraite people are always in demand.
Choose the correct answer from the options given below.
a) D only [ bA&C |[c)B&D | d) Conly a
12 | Choose the correct sequence for the following jumbled phrases/sentences:
“to go to other parts of India. Shukla accompanied him everywhere. Then Gandhiji SQRP
returned to (R)/Gandhiji told Shukla he had(S)/ an appointment in Cawnpore and
was also committed (Q)/ his ashram near Ahmedabad. Shukla followed him to the
ashram.(P)/”
a) SRQP b) SQRP c) SPQR d) PRSQ b
13 | What is the full form of ABC?
Answer
a) Achievement b) Academic Bank | c¢) Academic d) Academic (b)Aca
Bank of Credit of Credit Bureau of Credit Bureau of demic
Corporation Bank
of
Credit
14 | World Population Day is Celebrated on
Answer
a) June 15 b) July 11 ¢) June 21 d) June 5 (b)
July 11
15 | What is India’s rank in the Human Development Index (HDI) for the year 2025? 130
a)100th b)130t c)125® d)115®
(b)
16 | If SUIT is coded as TVHS, then MOON will be coded as
Answer
a) NPNN b)NONM ¢)NPOM d)NPNM dNPN
M
17 | A person walks 5 kms to the west, turns left and walks 5 kms and turns left and walks Nort
5 kms and again turns left and walks 5 kms what is the direction he is facing i) or
now?
a) North | b)South | c) North East | d) West




18 | If ‘P’ denotes as ‘+’, ‘Q’ denotes as ‘+’, ‘R’ denotes as ‘-’, and ‘S’ denotes as °x,
then :

60R 15P3S6 Q4= Answer

60-15+3x6+4= 7

2)30 | b)34 | c)24 | d)150 b)34

19 | Assertion: Moon is a satellite.

Reason: A satellite is any object that orbits or revolves around another object in Answer
space, like planet or star.

a) Both A and R b) Both A and R ¢) Ais true, but R | d) A is false, but a) Both
are true, and R are true, but R is false R is true A and
is the correct is NOT the R are
explanation of correct true,

A explanation of and R
A is the
correct
explan
ation
of A
20 | Pointing to a woman, Ajay said “Her only sister is the mother of my daughter’s
mother”. How is the woman related to Ajay? Answer
a) Sister | b) Mother | ¢) Grandmother | d) Aunt d)Aunt
21 | Choose the correct pair from the given columns:
A.RAM i. Permanent storage
B. ROM ii. Temporary storage Answer
C. CPU iii. Executes instructions
D. HDD iv. Read-only memory
a)A-ii, B-iv, C-iii, | b)A-i, B-ii, C-iv, ¢)A-iii, B-1, C-ii, d)A-iv, B-iii, C-i,
D-i D-iii D-iv D-ii a
22 | What is cloud storage used for?
Answer
a)To store data on a | b)To store data on | ¢)To increase d)To create
local hard drive remote servers computer websites b
via the internet processing
speed
23 | The word ‘Debenture’ is derived from which Latin word, and what does it mean? Debere,
meanin
gto
borrow

a) Debere, meaning | b) Debitum, c¢) Debere, meaning | d) Debitare,

to lend meaning debt to borrow meaning to C
charge
24 | The cash flow statement provides information about the changes in the cash and cash
equivalents position of an enterprise over an accounting period. True

a)true | b. false | ©)Only provides | d)Only records A




cash position at
the end of the
period

cash inflows

25 | Which statement about the business environment is CORRECT? Busines
S
environ
ment
consists
of all
external
individ
uals,
instituti
ons,
and
forces
that
may
impact
busines
S
perform
ance.

a) Business b) Business ¢) Business d) Business
environment environment environment environment
includes internal refers only to consists of all does not
factors like economic forces external influence the
company culture affecting a individuals, long-term C
and employee business. institutions, and strategies of a
skills. forces that may business.
impact business
performance.
26 | Read the following statements and choose the correct option: Both A
A: Assertion- Marketing activities are divided into four basic elements called the and B
‘four Ps’ of marketing. are
true,
B: Justification- These four elements are Product, Price, Promotion, and Physical and B
distribution. is the
correct
explana
tion of
A.
a) Both Aand B b) Both A and B c)Aistrue, but B | d) Ais false, but B
are true, and B are true, but B is is false. is true.
is the correct not the correct
explanation of explanation of @)
A. A.

27 | What is the primary function of an Operating System?

Answer




a) To manage b)To compile ¢) To design d) To store data
hardware and programming graphical user permanently a
software code interfaces
resources
28 | Match the following file extensions with their associated software:
A .docx i) Adobe Acrobat
B .pdf ii) Microsoft Word Answer
C xlsx iii) Microsoft Excel
D .pptx iv) Microsoft PowerPoint
a) A-ii, B-i, C-iii, b) A-i, B-ii, C-iv, ¢) A-ii, B-iii, C-i, d) A-iv, B-i, C-iii,
D-iv D-iii D-iv D-ii a
29 | Operating systems like Windows and Linux are examples of application software. Answer
a) True | b)False | c) Partially True | d) Not applicable b
30 | Assertion: A spreadsheet is used for data analysis and calculations.
o . . . . Answer
Justification: Spreadsheets like Microsoft Excel provide functions and formulas for
processing data.
a)Both Assertion b)Both Assertion c)Assertion is true, | d)Assertion is
and Justification and Justification but Justification false, but
are true, and are true, but is false. Justification is a
Justification is Justification is true.
the correct not the correct
explanation. explanation.
31 | Match the following network devices with their functions:
A. Router i. Connects devices within a network
B. Switch ii. Connects multiple networks A
C. Hub iii. Broadcasts data to all connected devices nswer
D. Modem iv. Converts digital signals to analog
a)A-i, B-ii, C-iv, b)A-ii, B-i, C-iii, C)A-iii, B-iv, C-i, d)A-iv, B-iii, C-ii,
D-iii D-iv D-ii D-i b
32 | If afile size is 2 MB, how many bytes is it?
Answer
a)2,000 bytes b) 2,000,000 bytes | c) 2,097,152 bytes | d) 2,048 bytes .
33 | Microsoft Excel can be used to create databases and perform calculations using
formulas.
Answer
a) True b) False c) Partially True d) None of the .
above




34

Which protocol is used for secure communication over the internet?

Answer
a) HTTP | b) FTP | c) HTTPS | d) SMTP c
35 | Match the Economic Sector in Column A with the correct Examples in Column B
A. Primary Sector i. Activities based directly on natural
resources BIA
B. Secondary Sector ii. Transport, education, healthcare, finance, ) )A -
telecommunications v B-
C. Tertiary Sector iii. Manufacturing clothes, house HI’S .
construction, Khadi industry 2=t
D. Activities dependent on  iv. Agriculture, mining, forestry, fishing
nature
a)A-1i,B-iii,C- | b)A-iv,B —iii,C |c)A—-iii, B—-ii,C |d)A-ii, B—iii, C B
ii, D —iv —i, D—1i —i,D—1iv —i,D—1iv
36 | What does the Current Ratio represent? The
proport
ion of
current
assets
to
current
liabiliti
es
a) The proportion | b) The proportion | c) The ratio of d) The ratio of
of current of current assets fixed assets to long-term B
liabilities to to current current liabilities to
current assets liabilities liabilities current assets
37 | Which of the following best describes financial statement analysis? b) It
aims to
estimat
e
current
and
past
financia
1
positio
ns and
operati
ons to
predict
future
conditi
ons.
a) Itis a process b) It aims to c) It primarily d) It is a process
that only looks estimate current focuses on the that only looks
at past financial and past current and at the current
positions financial future profits of financial (b)
without positions and an enterprise. position.

predicting the
future.

operations to
predict future
conditions.
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If debt is Rs. 1,50,000 and equity is Rs. 5,00,000, what is the Debt-Equity Ratio?

03:1
a)03:1 [b)3:1 [c)1:3 [ d)15:1 (a)
39 | Match the following classification bases of industries with their respective examples:
A. Based on activity size i. Heavy industries.
B. Based on the nature of the activity ii. Producer goods industries a) A=
C. based onthe nature of goods iii. Large-scale industries ¥11,IC3 B
D. based onthe level of investment iv. Manufacturing industries ;iV,D —_i
a)A-iii, B—iv,C |b)A-ii,B-iii,C |[¢c)A-iv,B-i,C- [d)A-i,B-ii,C— @)
—i, D—1 —i,D—1iv iii, D —ii iv, D —iii
40 | Which of the following statements are included in an annual report? Balance
Sheet,
Statem
ent of
Profit
and
Loss,
and
Cash
Flow
Statem
ent
a) Only the b) Only the Cash c) Balance Sheet, d) Only Statement
Balance Sheet Flow Statement Statement of of Profit and
and Statement and Notes to Profit and Loss, Loss and C
of Profit and Accounts and Cash Flow Auditor’s
Loss Statement Report
41 | Which of the plantations is not established by the British? West
Africa -
Coffee
a) Sri Lanka and b) West Africa - ¢) Malaysia - d) West Indies — (b)
India - Tea Coffee Rubber Banana
42 | Which of the following fall under the Eastern coast of India.
Corom
andal
a) Malabar | b) Konkan | ¢) Coromandal | d) None (c)
43 | Which of the following is wrong name of shifting cultivation?
A. Thailand i. Tamrai
B. North East India ii. Plantation B&C
C. Sri Lanka iii. Rey
D. Indonesia iv. Ladang
a)A&D |b)B&D [0)B&C |d)C&D (c)
44 | The oldest activity of man is .
Gatheri

ng




a) Gathering | b) Farming | c) Fishing | d) Agriculture (a)

45 | In which year Smt. Indira Gandhi declared internal emergency? 1975

a) 1975 b) 1963 c) 1979 d) 1972
()

46 | Which of the following country is not a part of South Asian Region?

China
a) China | b) Bhutan | c¢) Nepal | d) Pakistan (a)

47 | Which of the following countries follow ‘indirect democracy’?

A. The United Kingdom A, B
B. India and D
C. Switzerland only
D. USA
a) B and D only | b) A and C only | c)A, B and D only | d) All of the above | (¢)
48 “Human Geography as the study of relationship between human societies and

earth’s surface” . Ratzel
The above statement is defined by whom?
a) Carl Ritter b) Ellen c¢) David Harvey d) Ratzel

(d)

49 | Which of the following doesn’t come under social geography? Militar
y
geograp
hy

a) Behavioral b) Gender ¢) Military d) Cultural
geography geography geography geography (¢

50 | What is truck farming? Special
ized
type of
comme
rcial
agricult
ure that
focuses
on
growin
g high-
value,
perisha
ble
crops
like
fruits,
vegetab
les, and
flowers




a) Specialized type | b) The c¢) Collection of big | d) Farming of
of commercial manufacturing trucks for fruits to be
agriculture that of high quality business loaded in truck
focuses on truck purpose for
growing high- transportation
value, into cities for (@)
perishable crops maximum
like fruits, profits.
vegetables, and
flowers.

51 | The profitability of mining depends on factors such as:

A: Physical factors include the size, grade and the mode of occurrence of the
deposits. (b)

B: Economic factors such as the demand for the mineral, technology available and
used.

a) Ais correctbut | b) BothAand B ¢) Bis correctbut | d) None of A and B (b)
B is wrong are correct A is wrong is correct

52 | Which country is branded with most successful cooperative farming?

Israel
a) China | b) Netherland | ¢) Israel | d) Ukraine (©)
53 | Read the statement and choose the correct option. Both A
and R
Assertion (A): The old system of social welfare in the Soviet Union automatically are true
got destroyed. and R
Reason (B): the large sections of society were bound to live in poverty due to the is the
withdrawal of government subsidies. correct
explana
tion of
A
a) Both Aand R b) Both Aand R ¢) Ais true, but R d) A is false, but R
are true and R is are true, but R is is false. is true.
the correct not the correct (a)
explanation of A explanation of
A.
54 | Which of the following is wrongly matched?
A. Total Revolution i. Jaya Prakash Narayan
B. Student’s protest ii. I. K. Gujral B-ii
C. Railway Strike iii. George Fernandis
D. Garibi Hatao iv. Indira Gandhi
a) A-i | b) B-ii | ©) C-iii | d) D-iv (b)

55 | Which of the following is not a function of political parties? Rule
adjudic
ation

a) Forming b) Recruiting and ¢) Articulating d) Rule
Government Training Public Policy adjudication (d)
Candidates Priorities
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56 | Who has the power to implement fundamental right?
Suprem
e and
High
Court
a)Supreme and b) Legislative c) All courts of d) Parliament @)
High Court Assembly India

57 | Identify the state with highest numbers of Lok Sabha Seats. Uttar

Pradesh
a) Uttar Pradesh | b) Bihar | c) West Bengal | d) Maharashtra (a)

58 | Micro-finance is a powerful tool to fight against:

Poverty
a) Poverty b) Illiteracy c¢) Superstition d) None of the 4
above

59 | Which of the following statement(s) is/are correct with regard to macro-finance? There
is no
risk at
all
because
the
main
aim is
to give
benefit
to the
econom
y.

a) It is a broad b) There is no risk | ¢) It has a direct d) All of them
concept and at all because effect on an
focuses the the main aim is individual. b
whole nation. to give benefit
to the economy.

60 | A budget is prepared for: Definit
e
period

a) Indefinite period | b) Definite period | c¢) Period of one d) Six months b
year

61 | Match the following pairs based on name of the philosopher and year of the signaling

theory:
A-iv,
A. Arrow i. 1975 B-i,
B. Riley . 1975 C-ii, D-
C. Spence ii. 1977 iii
D. Wolpin iv. 1973
a) A-iii, B-iv, b) A-iv, B-i, C-ii, ¢) A-iv, B-iii, C-ii, | d) A-iii, B-iv, b
C-ii, D-i D-iii D-i C-i, D-ii
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62 | A good institutional plan should be: All of
the
above

a) Specific b) Conducive to ¢) Scientific and d) All of the above d
development task oriented

63 | There is one visually challenged student along with normal student’s in a classroom, | Teachin

what treatment you will provide to him while teaching? g will
be done
as per
the
pace
conveni
ent to
him
and
arrange
him to
seat in
front
row of
the
classro
om.
a) No need to give | b) Teaching will be | c) Give him extra d) Show utmost
any done as per the home works. sympathy to him
interventions as pace convenient
it is a normal to him and
. b)
classroom. arrange him to
seat in front row
of the
classroom.

64 | What do you mean by a dynamic approach to teaching? Activit
y based
learnin
g
should
be
conduct
ed for a
student
S.

a) Students should | b) Activity based ¢) Dynamic topic d) Students are
compete with learning should should be taught allowed to
their teachers. be conducted for in the school. complain to the
students. principal if the | b)
teaching is
ineffective in
this approach.

65 | Which of the following reflect the quality of teaching? Standar
d of
questio
ns
raised

12




by the

student
.
a) Class hour of the | b) Standard of ¢) Qualification of | d) High grades
school questions raised the teachers. achieved by the | b)
by the students. learners
66 | Which of the following evaluation method is best for the true evaluation of the Contin
students? uous
evaluati
on
a) Summative b) Evaluation half | ¢) Continuous d) Formative
evaluation yearly evaluation evaluation ©)
67 | Which of the following is a scale down teaching? Micro
Teachin
g
a) Macro Teaching | b) Team Teaching | c) Micro Teaching | d) Cooperative o)
teaching
68 | Which of the following is considered the most appropriate method of teaching pre- Play-
primary children? Y
way
a) Demonstration b) Play-way ¢) Question - d) Discussion b)
Answer
69 | Arrange the following schemes by order of launching year
A. Demotization
B. Goods and Service tax Act C.D.A,
C. Pradhan Mantri Jandhan Yojna B
D. Beti Bachao, Beti Padhao
a)A,B,C,D |b)A,B,D,C |c)D,A,B,C |d)C,D,A,B (d)
70 | Which Act of the following introduced ‘Separate Electorate system’? Govern
ment of
India
Act
1909
a) Pitt's India Act b) The Regulating | c) Rowlatt Act d) Government of )
of 1784 Act of 1773 1919 India Act 1909
71 There is unexpected rise in the sales if: There
will be
unplan
ned
decumu
lation
of
invento
ries
a) There will be b) Aggregate c¢) There will be d) None of the
unplanned demand would unplanned above
aggregate decline decumulation of c
demand would inventories

decline.
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72 | Which of the following is/are money market instruments? All of
the
above

a) Certificate of b) Treasury Bills ¢) Commercial d) All of the above d
Deposits Papers
73 | Who among the following were the advocates of Human Capital Theory?
Adam
1. Adam Smith Smith,
2. Spencer Spencer
3. Schultz ,
4. Mincer Schutz
a) 1,2,&3 [ b)23&4 [0)13&4 [ d)123&4 a
74 | Which of the following statement(s) with regard to Cost Effective Analysis is/are
true?
Statement-1: The purpose of Cost Effective Analysis of education is to ascertain
which programme or combination of programmes can achieve particular
objectives at the lower cost. Statem
ent-1
Statement-II: Cost Effective Analysis relates the cost of education with various only
measures of educational objectives, not expressed in terms of money
Choose the correct answer from the options given below:
a) Statement-I only | b) Statement-1I ¢) Both statement-I | d) Neither
only and statement-II statement-I nor |a
are true statement-1I
75 | Match the following pairs:
A. Cost Benefit Analysis in i. Optimal instrument re-
education occurrence
B. Cost Effective Analysis in ii. Cost Benefit Analysis A-i B-
education ¥ ’
C. Notation theory iii. Education, a capital investment C,—iii,
D. Human Capital Theory iv. Sheepskin’impact Code D-iv
a) A-iii, B-iv, C-ii, | b) A-i, B-ii, C-iii, ¢) A-iv, B-iii, C-ii, | d)A-iii, B-iv, C-i, | b
D-i D-iv D-i D-ii

76 | If a misbehavior is shown by majority of the students in the classroom. It indicates. General
indiscip
line
amongs
t
student
S

a) Presence of b) Presence of low | c) General d) Lack of
distractions in quality teaching indiscipline consciousness ©)

14




the class amongst among students
students
77 | When faced with a disturbance in the classroom while teaching in the class, a teacher | Remain
should calm,
quite
and
assess
the
situatio
n and
continu
e.
a) Give strict b) Remain calm, ¢) Not to bother d) Motivate them
punishment to quite and assess about it and do to learn and b)
the disturbing the situation and own duty. discontinue the
students. continue. lecture.
78 | Which strategy of the teacher will help him to ensure his effective involvement in the | By
classroom? adoptin
g well
establis
hed
posture
a) Becoming b) Complete c¢) By adopting d) By adopting
aggressive with control of the peer command well established
slight classroom by posture d)
disturbances. being
authoritarian
79 | The term ‘Hindavi’ was A
a) A Language b) A Mother c) Abook of Alvar | d) A travelogue a)A
Goddess of Saints written by Al- Langua
ancient India Beruni ge
80 | Goutam Buddha was the son of the Sakya King___ B
a) Sukarna b) Sudhodhana ¢) Subodha d) Sukarchakia b)
Sudhod
hana
81 | Match Vivekananda’s life events associated with the year these took place.
A. 1897 A.D. I. Birth Date
B. 1893 A.D. II. Death Date D
C1863. A.D. III. Chicago Speech
D1902. A.D. IV. Ramakrishna
Mission
Establishment
a)A-ii, B-iii, C- | b) A-iv, B-1i, ¢) A-1iv, B-i, C-ii & | d) A-iv, B-iii, C-i d) A-iv,
iv& D-1 C-iii & D-1i D- iii & D-ii B-iii,

C-i&D-
ii

15




82

The title father of Indian unrest’ was given to Bal Gangadhar Tilak by

B
a) Lord b) Valentine Chirol | ¢) Minto-II d) Disrachi. b)
Chelmsford Valenti
ne
Chirol
83 | Which statements are True to Indus Valley Civilization:

A. There was well planned drainage system.

B. A Great Bath is excavated at Lothal. C

C. A dockyard was found at Lothal.

D. S.R. Rao excavated a dockyard at Lothal.

a) A, B& C only b)A,Band D only |c)A, C&D only d) B, C& D only C) A,
C&D
only

84 | Who was Tathagata? B

a) Mahavira b) Goutam Buddha | ¢) Guru Nanak d)Tulsi Das b)
Gouta
m
Buddha

85 | Match the events associated with World War-1
A. Assassination of Archduke F. Ferdinand | i. 11" November 1918
B. Beginning of World War-I ii. 28" July 1914 A
C. End of World War-I iii. 28" June 1919
D. Treaty of Versailles iv. 28" June 1914
a) A- iv, B-ii, C- b) A- iii, B-iv, C- c) A-1iv, B-i, C-ii d) A-1iv, B-i, C-iii | a) A-
1&D- iii i&D- ii &D- iii &D- ii iv, B-ii,
C-i&D-
iii
86 | Who was the author of the famous book ‘Love is Stronger than Hate: A D
Remembrance of 1947’ ?
a)Khushwant b) Khan Abdul ¢) M.K.Gandhi d) Khushdeva d)
Singh Singh Khushd
eva
Singh
87 | Identify the correct statements which are related to Mughal Empire:

A. Akbarnama was written by Abul Fazal.

B. Baburnama was written by Babur. A

C. Akbarnama was written by Akbar.

D. Baburnama was written by Abdul Hamid.

a) A &B only b) B & C only c) B & D only d) A& D only a)A
&B
only

88 | Which King’s regime is known as the Golden Age of Telugu Literature? c

a) Deva Raya | | b) Deva Raya II | ¢) Krishna Deva | d) Vira Narasimha | ¢)

16




Raya Krishna
Deva
Raya
89 | Match Buddha’s life events with the places associated with
A Birth Place iKusinagar
B Death Place ii Sarnath C
C First Sermon iii Bodh-Gaya
D Attainment of supreme iv Lumbini
Knowledge
a) A-1i, B-1i, b) A-iv, B- 1, ¢) A-1iv, B-i, C-ii d) A-iv, B-iii, C-ii | ¢) A-
C-1iii & D-iv C-1iil & D-ii &D- iii &D-iii iv, B-i,
C-ii
&D- iii
90 | The term “Pir” in Sufi tradition means: B
a) The Supreme b) The Guru of the | ¢) The Sufi d)The Greatest of | b) The
God Sufis Believer all Sufi gurus Guru of
the
Sufis
Select Language based questions Either English or Hindi (91-100)
96 The novel is interchangeably called as:
Fiction
a) Drama b) Non-detailed | ¢) Imaginative d) Fiction d
text reality
97 In view of Robert Bridges, ‘Manna’ is related to:
A. Food
B. Tree
C. Mind
D. Refrigerator Aonly
Choose the correct answer from the options given below:
a) C only | b) A only |c)A&B |d)C&D b
98 Given below are two statements. One is labelled as A and other is labelled as
R.
A: Adrienne Rich is widely known for her involvement in contemporary
women’s movement. Ais true
R: The poem ‘Aunt Jennifer’s Tigers’ addresses the direct pleasant but R is
experiences of unmarried woman. false
In the light of above statements, choose the most appropriate answer from
the options given below:
a)A and R are b)A and R are c)Aistrue but R | d) AandR are c
true but R is an true but R is not | is false false
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explanation of A. | an explanation of
A.

99

Which of the following matching pairs is not correct?
A. The Last Lesson - Alphonse Daudet

B. Lost Spring— Pablo Neruda

C. Deep Water - William Douglas

D. The Rattrap - Selma Lagerlof

Choose the correct answer from the options given below:

B only

a) B only [b)B&C | ¢) Aonly |d) A&D

100

Which of the following matching pairs is not correct:
A. Indigo - Asokamitran

B. Poets and Pancakes— Louis Fischer

C. Going Places—A. R. Barton

D. My Mother at Sixty-six—Kamal Das

Choose the correct answer from the options given below:

A&B

a) B only | b)A &B | ¢) D only |d) B&C

b

91

‘An Outline History of English Literature’ is written by:

Hudson, W.
H.

a)Edward, A. b)Daiches. David | ¢c)Hudson, W.H. | d)Green, D.

C

92

“Thus let me live, unseen, unknown,
Thus unlamented let me die;

Steal from the world, and not a stone
Tell where I lie”

The above lines are taken from:

Ode on
Solitude

a) Ode to b) Ode on c) My Last d) How Soon
Autumn Solitude Duchess Hath Time

93

Which of the following statements is/are true according to Dan Lacy?
A. Men are civilized because they can read.

B. Language is meant for communication.

C. Listening is a basic skill.

D. English is a window on the world.

Choose the correct answer from the options given below:

A only

a) D only [b)B&C | c) Aonly |d) A&D
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94 Match the following:
A.E. A. Poe 1. The Cask of Amontillado o
B. Catherine Mansfield ii. The Fly é‘}:,B]')“:
C. Graham Greene iii. The End of the Party -, LAy
D. Vijay Tendulkar iv. Silence! The Court is in Session
&) A-ii, B-iii, C-i, [ b) A-ii, B-iii, C- [ ¢) A-ii, B-iv, C-i, [ d) A-i, B-i, CAiii, |
D-iv v, D-1 D-iii D-iv
95 Match the following:
A The Necklace i. W.S. Maugham e
B His Chosen Calling ii. G.D. Maupassant é__u’g v
C Mr. Know-All iii. R.L. Stevenson -
D Walking Tours iv. V.S. Naipaul
a) A-ii, B-iv, C-i, | b) A-ii, B-iii, C- | ¢) A-ii, B-iii, C-i, | d) A-i, B-ii, C-iii,
D-iii iv, D-i D-iv D-iv a
HTST 3MeTia U g Ui a1 fgdt (91-100)
%6 T EREToTd) R ITemeT Ay el @ gfREsH
feedt
a) TETSI fgedt | b) Toreymell | o) TR | d) afvesd @
feedr et
o7 AT A g RlTaTFIT 3w §
A. 39T qat fgedl dr v atelt srafer aft 1 Hrerqd
B. sierqdr AETa Fr v o HETT &
C. HITEY, 3UTYT fagrdY Ry Y arelr 81 el 8
D. 3cotel 870 Y Siell AT B
a) A | b)B o) C 'd)D (b)
8 HTAUT 92 T HATT F AR Freret 513t 61 Azran ’s
rcd gl
a) 17 | b) 25 | ¢)22 | d) 20 5)
29 FRE 1 [sridd &1 @ae fiforan
A. T i. W (JETS) AL B-1V,
B. 3rfaor i. C-I,D-1II
C. U iii. 3TgY
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D. et iv.
@) Acii, B-iv, C-i, | D) Aci, B-iv, [ ¢) Aciv, B-di, | d) Adiii, Biv, |
D-iii C-11, D-111 C-1, D-ii1 C-1, D-11
100 | et seg A Sl aTaAT 2> -
2)TTET b)ICAAHT | c)q@eed | ) FEAE | (b)
o1 A TP AT T HToT @S FATR? 2000 & 00 -
800090
a)500$090- | b)8000E0Y | c)200050q | d) 40000
10§00 0- 400050 | 0-800F0F0 |0- 00§00 |(©)
0
92 ffaf@d eafaat w1 e Ao |
. & A) arered 1-C
2. o B) & g_g
ST | C) HUS 4-D
4. 9 D) 33
a) 1-C,2-A,3-D, |b)1-C,2-A,3- | ¢) 1-A,2- d) 1-D,2- )
4-B B, 4-D D,3-B,4-C | A3-C,4-B
93 faifeRa A g easra s 9T | gEa gifas
IRaR #T
TR |
a) FH 3G | b) ST c) &Y d) e+ ()
FIATHE | At ®: | afdsaRar | @eFa#
ydead | Framrgl | e Rerean
et Iy gl
Haware |
o4 SRIRT gRER Y fraei e & 10
a) 7 | b) 20 )15 [d) 10 d)
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95 e e fifsran
A. Qoecd il A-1V, B-1,
B. 3dEY ii. of C-III, D-IT
C. A=y iii. €
D. dreleq iv.q
a) A-i\_I., B-i,C- |b) ff“'iv’ .]_S_—i, c) A1 B_—ii, d) é-iii, B1 @)
11, D-11 C-i1, D-111 C-ii1, D-1v C-i11, D-1v
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